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Gabarito	
  P1	
  –	
  25/09/2015	
   	
  

	
  

	
   1	
  

Problema	
  1	
  (3,5	
  pontos)	
  	
  

	
  

Tubo	
  1	
  (parede	
  fina	
  –	
  	
  𝑎 ≫ 𝑡!):	
  

∆𝑎
𝑎
=
(𝑝 − 𝑝!)𝑎
𝐸!ç!𝑡!

= 𝐶!(𝑝 − 𝑝!)	
  

Tubo	
  2	
  (parede	
  grossa):	
  

∆𝑎
𝑎
=

1 − 𝜈!"#$ + 1 + 𝜈!"#$ 𝑏! 𝑎!

𝐸!"#$ 𝑏! 𝑎! − 1
𝑝! −

2 𝑏! 𝑎!

𝐸!"#$ 𝑏! 𝑎! − 1
𝑝! = 𝐴!𝑝! − 𝐵!𝑝!	
  

∆𝑏
𝑏
=

2
𝐸!"#$(𝑏! 𝑎! − 1)

𝑝! −
1 − 𝜈!"#$ 𝑏! 𝑎! + 1 + 𝜈!"#$

𝐸!"#$ 𝑏! 𝑎! − 1
𝑝! = 𝐴!𝑝! − 𝐵!𝑝!	
  

Tubo	
  3	
  (parede	
  fina	
  –	
  	
  𝑏 ≫ 𝑡!):	
  

∆𝑏
𝑏
=

𝑝!𝑏
𝐸!ç!𝑡!

= 𝐶!𝑝!	
  

Onde:	
  

𝐶! =
𝑎 𝑡!
𝐸!ç!

= 2,1×10!!"  MPa!!	
  

𝐴! =
1 − 𝜈!"#$ + 1 + 𝜈!"#$ 𝑏! 𝑎!

𝐸!"#$ 𝑏! 𝑎! − 1
= 7,7×10!!  MPa!!	
  

𝐵! =
2 𝑏! 𝑎!

𝐸!"#$ 𝑏! 𝑎! − 1
= 9,0×10!!  MPa!!	
  

𝑝	
  

𝑝	
  

𝑝!	
  

𝑝!	
  

𝑝!	
  

𝑝!	
  

2𝑎	
   2𝑏	
  

𝑎	
   𝑏	
   𝑡!	
   𝑡!	
   𝐸!" 	
   𝜈!" 	
   𝐸!"#$ 	
   𝜈!"#$	
  
30	
  mm	
  	
   45	
  mm	
   2	
  mm	
   3	
  mm	
   70	
  GPa	
   0,30	
   0,4	
  GPa	
   0,46	
  

	
   	
   	
   	
   	
   	
   	
   	
  

𝑡!	
  

𝑡!	
  



	
   2	
  

𝐴! =
2

𝐸!"#$(𝑏! 𝑎! − 1)
= 4,0×10!!  MPa!!	
  

𝐵! =
1 − 𝜈!"#$ 𝑏! 𝑎! + 1 + 𝜈!"#$

𝐸!"#$ 𝑏! 𝑎! − 1
= 5,4×10!!  MPa!!	
  

𝐶! =
𝑏 𝑡!
𝐸!ç!

= 2,1×10!!"  MPa!!	
  

Portanto:	
  

𝐴!𝑝! − 𝐵!𝑝! = 𝐶!(𝑝 − 𝑝!)	
  

𝐴!𝑝! − 𝐵!𝑝! = 𝐶!𝑝!	
  

logo	
  

𝑝! =
𝐴!

𝐵! + 𝐶!
𝑝!	
  

𝑝! =
𝐶!

𝐴! + 𝐶! − 𝐵!𝐴!
𝐵! + 𝐶!

𝑝	
  

Substituindo	
  os	
  valores	
  obtém-­‐se:	
  

𝑝! = 0,15  𝑝 =   1,1  MPa	
  

𝑝! = 0,11  𝑝 =   0,77  MPa	
  

	
  

Problema	
  2	
  (3,0	
  pontos)	
  

	
  

Para ∆𝑇 < ∆𝑇! (o eixo 1 e o tubo 2 estão no regime elástico)  

𝑁! + 𝑁! = 0

𝛿!
𝐿
=
𝑁!
𝐸𝐴

+ 𝛼∆𝑇

𝛿!
𝐿
=

𝑁!
2𝐸𝐴

+ 2𝛼∆𝑇

𝛿! = 𝛿! = 𝛿

⇒    
𝑁! =

2𝛼𝐸𝐴
3

∆𝑇

𝛿 =
5𝛼𝐿
3

∆𝑇
	
  

O	
  escoamento	
  tem	
  início	
  na	
  Barra	
  1	
  quando	
  𝑁! = 𝑌𝐴,	
  logo	
  

a           ∆𝑇! =
3𝑌
2𝛼𝐸

	
  

b             𝛿! =
5𝑌𝐿
2𝐸

	
  

1	
  

2	
  

2𝐸  

𝐸  
𝑌  

−𝑌  

𝜎  

𝜖  

2	
   1	
  3	
  

3	
  𝐿  

𝐴! = 𝐴! = 𝐴  
𝐸! = 𝐸  
𝐸! = 2𝐸  
𝛼! = 𝛼  
𝛼! = 2𝛼  



	
   3	
  

Quando	
  ∆𝑇 > ∆𝑇!	
  o	
  eixo	
  1	
  passa	
  a	
  trabalhar	
  no	
  regime	
  plástico,	
  portanto  

𝑁! = 𝑌𝐴   ⇒ 𝑁! = −𝑁! = −𝑌𝐴	
  

𝛿 = 𝛿! =
𝑁!𝐿
2𝐸𝐴

+ 2𝛼𝐿∆𝑇 = −
𝑌𝐿
2𝐸

+ 2𝛼𝐿∆𝑇	
  

Logo	
  

𝛿 ∆𝑇 =

5𝛼𝐿
3

∆𝑇, ∆𝑇 ≤ ∆𝑇! = 3𝑌 2𝛼𝐸

−
𝑌𝐿
2𝐸

+ 2𝛼𝐿∆𝑇, ∆𝑇 > ∆𝑇! = 3𝑌 2𝛼𝐸
	
  

Para	
  ∆𝑇 = 2∆𝑇! = 3𝑌 𝛼𝐸	
  

c             𝛿(2∆𝑇!) =
11𝑌𝐿
2𝐸

	
  

	
  
Problema	
  3	
  (3,5	
  pontos)	
  

	
  

	
  

𝛿! = 𝛿!
(!) − 𝛿!

! − 𝛿!
!     ⇒       

𝑅!𝐿!

𝐸𝐼
=
𝑞𝐿!

8𝐸𝐼
−
𝑀!𝐿!

2𝐸𝐼
−
𝑅!𝐿!

3𝐸𝐼
    ⇒       

4
3
𝑅!𝐿 +

1
2
𝑀! =

𝑞𝐿!

8
	
  

0 = 𝜙!
(!) − 𝜙!

! − 𝜙!
!     ⇒       0 =

𝑞𝐿!

6𝐸𝐼
−
𝑀!𝐿
𝐸𝐼

−
𝑅!𝐿!

2𝐸𝐼
    ⇒       

1
2
𝑅!𝐿 + 𝑀! =

𝑞𝐿!

6
	
  

Resolvendo	
  as	
  equações	
  para	
  𝑅!	
  e	
  𝑀! ,	
  obtém-­‐se:	
  

𝑅! =
𝑞𝐿
26
	
  

𝑀! =
23𝑞𝐿!

156
	
  

e	
  portanto	
  

𝛿! =
𝑅!𝐿!

𝐸𝐼
=

𝑞𝐿!

26𝐸𝐼
	
  

𝑘 =
𝐸𝐼
𝐿!
	
  

𝐿	
  

𝑞	
  

𝑘	
  

𝐴	
   𝐵	
  

𝑞	
  𝐴	
  

𝐵	
  

𝐴	
  
𝐵	
  

𝑀!	
  

𝐵	
  
𝐴	
  

𝑅! 	
  

𝑅! 	
  

𝑘 =
𝐸𝐼
𝐿!
	
  

𝛿!
(!) =

𝑞𝐿!

8𝐸𝐼
	
   𝜙!

(!) =
𝑞𝐿!

6𝐸𝐼
	
  

𝛿!
(!) =

𝑀!𝐿!

2𝐸𝐼
	
   𝜙!

(!) =
𝑀!𝐿
𝐸𝐼

	
  

𝛿!
(!) =

𝑅!𝐿!

3𝐸𝐼
	
   𝜙!

(!) =
𝑅!𝐿!

2𝐸𝐼
	
  

𝛿! =
𝑅!
𝑘
=
𝑅!𝐿!

𝐸𝐼
	
  


